Choose the Question

Can you answer the question using the information given?

Sophie planted 8 cherry trees, 3 pear
trees and 6 apple trees.

How many trees did she plant?

Yes No
| can answer | can’t answer

this question. this question.

Nathaniel traveled 10 miles. He cycled 4
miles and drove the rest of the way.

Where did he go?

Yes No
| can answer | can’t answer

this question. this question.

Mary has 18 marbles. Sophie has 4
marbles more than Mary.

How many marbles does Sophie have?

Yes No
| can answer | can’t answer
this question. this question.
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Jonathan got $62 for his birthday. He
spent $24 on a book and $9 on a ball.

How many dollars does Jonathan have
left?

Yes No
| can answer | can’t answer

this question. this question.

Ben’s dad has 35 tools in his tool shed. 16

of them are made of steel and 13 are

made of iron. The others are made of
plastic.

How many plastic tools does Ben’s dad have?

Yes No
| can answer | can’t answer

this question. this question.

Dad takes 24 minutes to drive to work.
That’s 18 minutes less than when he took
the bus to work.
How long did it take him to get to work by
bus?
Yes No
| can answer | can’t answer
this question. this question.



